Swansea is bigger than Neath, Cardiff is bigger than Swansea.
Which town is the biggest?

Swansea Neath Cardiff

Monday was wetter than Tuesday but sunnier than Sunday.
Which day was the wettest?

Sunday Monday Tuesday

Jane and Carolyn are dark. Glen and Kevin are fair. Jane and Kevin
are short. Who is short and dark?

Jane Carolyn Glen Kevin

4. Who is short and fair?

Jane Carolyn Glen Kevin

Four friends are at the cinema. They are sitting in this order in the
row from left to right; Samantha, Paul, Simon and Cathy. Just before

5. the films starts, Samantha changes places with Simon and then Simon
changes places with Paul. Who is at the end of the row?

Samantha Paul Simon Cathy

6. Who is sitting to the right of Simon?
Samantha Paul Simon Cathy

Five cars had a race. The BMW beat the Rover but couldn't overtake
the Honda. The Renault failed to overtake the Volvo but beat the

T
Honda.
Which car came last?
BMW Rover Volvo Honda Renault

8. Which car came third?
BMW Rover Volvo Honda Renault
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